1
Time: 10 Minutes Paper English 7 (T-1) Total Marks: 10

2nd Month, 4th Week, 4th Day
Syllabus: Revision of Unit # 4. Present Perfect Tense

Q.No.1. Choose the correct options. A3)
1. Ilike to eat apple a day.
()] a )| an ) the @] none |

2. What is the adjective form of ""danger"'.

|(a)| danger |(b)| dangering (c)| dangerly |(d)| dangerous |
3. Which suffixe/s is/are used to make a noun an adjective?

|(a)| -ful |(b)| -ish |(c)| -ent |(d)| all of these |

4. A man with gray hair watched the match. The underlined part of the
sentence is adjective.

|(a)| adverbal |(b)| adjectival |(c)| noun |(d)| prepositional |

Read the following paragraph and answer the following questions.

It was due to the untiring efforts of Quaid-e-Azam (.;10415‘;’?/) that the Congress
agreed to a separate electorate for the first time in 1916 after the Lucknow Pact,
when the Nehru Report spoiled all efforts of Hindu-Muslim unity. The Nehru
Report was rejected by all shades of Muslim opinion.

5. Who did effort for separete electorate?

l@| Nehru  |(b)] Quaid-e-Azam [(¢)] SirSyed [(d)| Allama Igbal
6. Nehru Report spoiled:

(a) Elections (b) Muslims

(c) Hindu-Muslim unity (d) Hindus

Q.No.2. Who was the proponent of the Hindu Muslim unity? ?2)

Q.No.3. Fill in the blanks with 'a’, 'an' or 'the' as needed. A3)

« Welive in same street. ¢ [ have got idea.

* Hehad great love for nature.

Q.No.4. Make adjectives from the nouns and verbs. 2)

fool success

dust attract
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